


K X >(
y=^-
280

K X
X'VX''"X^"'VX A A, A A. A

XxXMAa
AvOO

K X x%' X V X '
K X X

A.
\

V XA>^Vx 
sV<>?<

220;1 X.

X XXX X/X X VAVXV;^v\/\/?\ A ,/\ ./\ /\ ,/X A\ y-JfX X

X XXX X aA/X/\/'\X. X )<•

N,---\/AAXA\Ax\/V'■•' '"'xXXX ■

AAAXAXA
l:2880

Části p.č. 448/1 a 46’?



&

/X/V^W^/'X/VX^W^v/'
y

X. X X X X X X >
X :x: >< ')j

A'xxyxxx
KXXMi^'

xVXXXo5X?XXX^
)x%c' X \x X X X X xXOXXXwx

^ x'\ XX X xV x "'\ X\ XX /

XxX
■.-■XVXX-.A. \/X

/\X
X̂\

x\
A

XXAX'XXxXAV^XXX 
A<XOKXXXk>v<XAX>:

"xMXxAX'x
1:2000



7
/' ^ ,A

/^\/ \/\\ /v ^ X X““X-X..X X >í /S
>\x;<AvVWAW

‘^'^YX><>v<>xvX X"^'í'4'4 X X -y ÍXAXAXAX. 
ÍXXXífXXXXKXXXAXX-) 
XXí^XXX/^..'X ■" "X •• ■ "X' ■ ■' ■ X..X. X
/'yK^^^XyK^ A 12

c^T^^Xx^XXXXv^,'' 'MáX XX-X^HX

X'

xOT

'xi^w%A—'fK^í^VVv^W
XXXkx S’l?" X̂

xxXčxvAVAXb

1:2880


